_Adda

247

9e9- YRa®1 / QUESTION BOOKLET
B8 / CODE : 26

yiRest ® gt @t wen /
LNumber of Pages in Booklet : 40
it & wedl A e /

Number of Questions in Booklet : 150

GET IT ON

Google Play

R gan /
SR.No.

167945

26

Wy / Time : 3.00 92 / Hours .

yurkes / Maximum Marks: 300

—— —

INSM’i‘WI?I}CTIONS

i, At the start of the examination before attempting the question
paper kindly check your test booklet and OMR Answer Sheet
and ensure that :-

» The serial numbers of test booklet and OMR answer sheet are
saue.

3 All pages of test booklet & OMR answer sheet are properly

of test booklet is missing.
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Consider the following statements.

According to 73rd constitution amendment ;

a) Panchayat Raj Act in Rajasthan was introduced on 23rd April 1994,

b) Itis compulsery to call the meeting of gramsabha twice during a year.

¢} Itis compulsory to reserve one-third seats for woman at all levels of Panchayati Raj,

d) One-third reservation is also compulsory for Scheduled Castes and Scheduled Tribes.

Which of the statement/statements given above is/are correct? Select the correct answer on the basis
of code given below :. ' '

1) aand b only 2) cand d only 3) abandconly . 4) aand d only

v woet w REw $ifae. 739 a9y d9sitew & oo 1.

a) wﬁwmﬁﬁwwﬁ%mw%%m%ﬁmw

by TH T H g9 H & g A ST ¥ '

¢) WW%WWWW@W%%WWW%!

dy orggiaa S v sgEmEa 99 e & g o o e st sifam
Twied w8 FmEr T8 S 2 W fRu T ge ¥ ower W I g

1) aug b Haw 2) ¢ ud d e 3) a,bqa‘ca‘m 4) avd d B

Which of the followings are fundamental duties of the cmzens in the Indxan Constitution ?.

a) To respect national flag and national anthem. |

by To render national service when called upon to do so.

¢) To endeavour social reforms. ,

d) To value and preserve the rich heritage of our compos:tte cultyre.

Which of the statements given is/above. correct 2. Select the correct answer on the basis of code

given below.

1) aand b only ' 2} & band d only 3) a,b and ¢ only 4y cand d (mlly

e GO § R oA R Frifest & Hied difers wder €
a) eE WE‘T&T T i T T

b))  ONEN WU @) T omud wvr

¢} HTITSEE YE & A S
d) mz&mwﬁmwwmwwma&rwm&maﬁm
T w4 Fr w8 E 7 S Ru v e F oonew wowdl wew g,

1) aud b wew 2) a, b Ug d Haw 3) 2, b T ¢ HaF 4) c U d Fgad

. Shrimati Vasundhraji Raje remained Chief Minister of Rajasthan first time during ........

1) 2004 - 2009 2) 2001 - 2007 3) 1999 - 2003 4) 2003 - 2008

3 P.T.O.
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3) iRl TRl T ISR RN 91 YR WA we, 1 |
1) 2004 - 2009 2) 2001 - 2007 3) 1999 - 2003 4y 2003 - 2008

4)  Consider the following statements,
a) The total number of members in the Loksabha from Rajasthan 1s 25.
b) The total number of members of Legislative Council in Rajasthan is 200.
¢) In the Loksabha 4 seats are reserved for Scheduled Castes and 3 seats for Scheduled Tribes
from Rajasthan. :
- Select the Correct answer using the code gwen below :

1) aand b only 2) aand c only 3) bandconly 4) a only

4)  Frr Rt a e &g |
a) ﬁraswwmmﬁgfmsm%z _
by I o Ran ufivg & A 9 # de 200% |
©) i T # Tewer @ orpgfan a9 4 e o srgafe ww oty A 3 A aefw ¥ )
1 el & SR W R 9 & gAE s |

1) awd b 2) atd ¢ Fer 3) b ¢ e 4) a e

- 5) Parliament in India consists of :

a) The President _ .

by .Rajya Sabha and Lok Sabha

¢) Prime Minister

d) The Vice President

Select the correct answer using the code given below :

1) aand b only 2) ‘a, b and c only 3Yabanddonly  4) b,candd only

5) wwa ¥ wwe § qieeE @

a) ol

by TS Wl UG @l Al

SERCIEEE

dy 37 Tyl

m%%*m@aémﬂwmaﬁmaﬁq -

1) awd b ¥aw 2) a,b T ¢ B 3) abuiddEm  4) beTHdEEE
6) One amongst the following statements is izscon'ect, findout 1+ + g

1} The constitution was adopted on November 26,1949 and it came into effect on January 26,
1950, '
2) lLord Bentinck was the {irst Governor General of India.

3} Pandit Jawaharlal Nehru was the first Prime Minister of India.

4) The Directive Principles of State policy constitute the fourth past of the constitution,

26- @ 4
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6) Frer wedi § 9 uw wYT gy € il
1) HaEr @ 26 R 1949 &1 wiita e ofit g8 26 S=al 1950 § @0 ga |
2y aE dfes WE & gUY TRE T Y | '
3) Rew waTETEE dEE WA % uuH 9uW W 8 | |
4y o W % Rlew Regi o & 99 w9 & guia £

7) One amongst the followings is incorrect about Lok Sabha, find out.
1) The present strength of Lok Sabha is 545.
2} The elected members from the States are 530

3) The elected members from Union Territories are 13
4) The elected Anglo Indian members are 2. '

| 7)o W % A & Few B A wp awe ¥ | aar B |

1) @ 4T & Sanr GE 545 % |

2) T ¥ g9 §U U 530 % |

3) &% onida weel ¥ gA gY wew 13 % |

4) Ul ghsgw 9o g0 9 2§ : o

8) The representative democracy introduced at the village level is through ;

1) Gram Sabha 2) Panchayat 3) Sarpanch : ..., 4), Panchas

8)  wm wi e yfaRfe yovasr Bre o e e v &, ww ¥
DmEw 2) Yumd Hwdg 0 4) 0=

9) In the history of Indian constitution the most controversial amendment in the constitution was :
1) 42nd Amendment ' , 2} 76th Amendment
3) 79th Amendment ‘ 4) 89th Amendment

? 9) e dRYE % gem d g9y fHarnde i gl o

1) 42 df dsies 2) 76 |f Heles 3) .79 9f darem - 4) 894 gemE

10) Which constitutional Amendment in India made primary education is a fundamental right ?
1) 80th 2) 81st S 3) 82 4) 86th

10) e dfaam delied @ s # wafe foen =6 S aifeew gam & 7
1) 80 2) 81 3) gz 4 4) 86 &

5 = P 0.
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11) Large earthen pots called “Gore and Koth” and meant to store.grain have been found in which
ancient civilization g ' :

1) Ojhiyana 2) Kalibanga 3) Jodhpura -4) Aahar 3

11) e vad & g% gawe R Y dwie s o o, TR SR e B I 8g 7
Dot Dowdem 3 e 4) oms
12) Who discovered the prehistorical paintings in Alaniya in Rajasthan ?
1) DH. Garden ©2) Dr.S. Kumar
© 3) V.S. Vakanker ‘ 3 Dr. Jagatnarayan-
12) T § st & iR R @ dw e A |
1 & wy, TN | 2) & UH. $AX "3')' é‘; s a{eg_um' 4) =, AIAEREN

13) In Marwar there was a tradition of granting. Siropav, for bravery, literature, service. The highest
Siropav was ‘ ' o '

1) Palaki Siropav : zj Hathi Sﬁopév _ ._
3) Ghoda Siropav : 4) Kara Dushala Szropav .
13) =S § da, mf%?:r & % R f@ﬁw”%ﬁm“rmﬂ?@aﬁ wﬁafﬁwmw
1) e sy - 2) =
3) gt R . ) g e

14) Who said “The Mughal Empemr for half their vmtones were graceful to the Rath();e s and then‘ one
lakh swords” ; :

1) Col. Tod ‘ _ - 2) Mec. Mﬂlan 3 AL Basham o) Aiﬁston
14) “Wwaﬂzwmﬁrﬁ%mﬁ%%mmﬁwwmrﬁ%wa” HWW%
 Dwdmds Q) Webew. . 3) Toum aE o 4) meew .,
15) Which arcmtecmral styie of temple archztecmre’s ‘Bhurms Style’ is s&b-style of 7.

1) Nagar Style L i 2) Dravid Style I

3) Indo-Persion Style o .. 4) Besar Styie S T
15) afer o &t i Jr %ﬁﬂwﬁﬂﬁmf?{&ﬁ%? o R

Damdet  pmRedd 3 vEuaE . 4) dwm i

16) “The emperor had made the Rai_ia of Mewar subordinate to him throy'gh negotiations not through
force” who made this statement?

1)} Sir Thomas Roe  2) Sir IN. Sarkar 3) Col.Tod * 4) Dr. Beniprasad
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16) “areeTe ¥ HaTE % N B oA 5 W & o e om, 7 fr A A @fmﬁ'm% ?
1) &t emg 2) WU A WER
3) @He TS 4y 1. T JOR
17) In Rajasthan in whom is the ‘Underiya-Panth® Prevalent ?
1) In the Bhils 2).In the Meenas 3) In the Sahriyas 4) Inthe G'ai'éiéiy&_s
17) Tor™ ¥ Cgaian gy e el ¥ . R .
1 Al # 2) Homeit & 3) wefar A ) i H
| gi 18) ‘Gubbara’, ‘Nusarat, ‘Nagpali’, ‘Gazak’ are names of which ? |

1) The names of the cannons in Jodhpur Fort. ‘
2) The names of the Prevalent regional sweets in mewar.

i ‘ 3} The names of the ‘dress of the thikanas of marwar
4) The names of the esiablished revenue taxes.

18) “apepr”, ‘qERR, SRR, (R AW R
1) wiegy gl @ A % T
z)ﬁmﬁqﬁaﬁaﬁa@%w
3) wwars faw & awit % T y
4) Hatg # vafed T 99 6 % AW

19) Who established the library ‘Pustak Prakash’ in the Jodhpur Fort ?

1) Jaswant Singh ~ 2) Ajit Singh '3) Man Singh . 4) Takhat Singh
19) @W%ﬁﬁf“wmﬂf’mﬂ%mw%ﬁ? |
1) srwEs e 2) dE e 3) gEREE A T R

20) What is the ‘Mughdhana’ in the culture of Rajasthan 7 _
1) The offering of heena to the goddess and then dism’ouung it among the guest
2) To Serve the Bridge ‘Moong and Ghee’ '

3) Bangles of lac in which silver wire is threaded
‘ 4) The sticks which are used to cook food which brought after the WOIShlp of God Vmayaka

f 20) TR A Hepht # g w ¥ -

1) A 6 Agd) e e ¥ dfen |

2) ag F T v A e |

é 3) wrE @ giedr Red dtd o w3 R 9§ |
4y A wE % e aestedl S e e & 9van @ o ¥

%. & 7 T PF0.

B S R v - * T R 402 # v : e )
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21) In which mint the ‘Iktisandha Rupee’ was minted 7

1) Jodhpur 2) Sojat 3) Kuchaman- 4) Merta
21) “m”mmﬁm'mﬁmm ?
1) Sheg 2) ot 3 AR 4y dE

22) Where is the tradition of the famous ‘Naher dance’ establish whlch is there since the time of Mughal
Emperor Shah]ahan 7

1) Mandatl " 2) Chonm 3) Chaksu 4) Kishangarh
22) T GEE MWl & 9d B & Mg AR T @ ged & Y el aid § 7
1) e 2) 9 3) A, 4) feere -

23) In which year did Acharya Tulsi start ‘Anuvrat—Andolan’ ?

| 1) 1942AD 2) 1949 AD ' 3) 1945AD 4) 1952 AD
| 23) oA g ¥ U SRR @ e o B 7

1) 19428, 2) 1949 4. 3) 1945 %, 4) 19522,
| 24) To resolve the related problems of the estates when was the ‘Riyasati Vibhag’ established?
8 1) Sthily 1947AD 2) 10th October 1946 AD
3) 31st March 1948 AD 4) 04th January 1947 AD

24) et & wiferr et F qam % fo CRard R & e B w6 T 7
L s 10478 | 2) 10 sFEET 19468,

3) 317 19482, ) 4TI

| '25) The twenty one point demand charter ¢alled ‘mewar pukar was related to whom 7

l 1) Motilal Tejawat 2) Mamkya lal Verma

3) Vijaya Smgh Pathik : 4) Sadhu &1taramdae

'25)“mw”21@ﬁwmmamaz? |
1) i T 2) iR g _S)Wﬁ{%q@aﬁ ~-4)‘GT§WHT’€T-

26) What was the annual income of “Matsy-Sangh’ during the process of unification of Rajasthan ?

1) One hundred eighty four lakh Rupec
2) Two hundred ninty lakh Rupee

3) Three hundred twenty four lakh Rupee
4) Twenty Six lakh Rupee

2% 6 T 8
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| 26) ToreT ¥ U SRR % wN we 6 @ qitE o e o ?
1) 184 wmg w99 2) 290 W1 TR 3) 324 W &Y 4) 26 @@ T

27) Which province of Rajasthan was called e eighth wonder of the world by Pt, Jawahar Lal Nehru

1) Jaisalmer ' 2) Bikaner 3) Jhalawar 4) Kota
27) TR Wl Ty Raw @) .St W eE A ava @ aeal onead w7
1) Swere 2) gy -~ 3) wenErs 4y e

28) During which Prajamandal movement did the ‘Kangad Kandh’ take place ?

1) Jaipur Prajamandal - 2y Bikaner Prajamandal
f '! - 3) Kota Prajamanciai 4) Jhalawar Prajamandal
N 28) s e o SRS ST & 4R AR g ?
y 1) O e 2) AR AT

3) wrer FeTHE |  4) TS SR

29) During the revolt of 1857 who said the following “The _Engiish have gone back on their words did
they not occupy Awadh ? Hence they should not expect that Indjan will also abide by their words”.

1) Tantyg Tope - 2) Hekim Ahamad

3) Pratap Singh " 4) Mubammad Ali beg |
29) gt & srodr s s A ¥ | T SR oMY W arER 7 R 7 o O @ anden e

e o wreelta oot gy @ S w17 18578, &1 i % g H we fewd w0

1) dier e - 2) BN AR 3) R 4) TEEE I 49

30) Which amongst the following is net la musical instrument played by wires 7

1) Janter 2y Rwaj 3} Chotara: 4) Satara
30) Forey & o 1 a7

1y s 2) W@ 3) dam 4) HarQ

r 31) The average of 6 numbers is 20. If a;numbf:,r is removed then avc’ragc. becomes 15. In place of

1) 17 2) 20 3) 19 | 4) 18

31) 6 wEmEl ot 20 &1 aft uw den e &) o @ ol 15 € o ¥ 1 eed ol gen & we
UT 30 Sirge Ui g W 6 gEnsl w1 ol 6 s L |

117 ' 2) 20 319 ' C 4y 18

! 26- G B ’ rrO.
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32) The average of 15 numbers is 40. In these average of first 8 nuumbers is 30 and the average of last 8
numbers is 50. The value of eighth number will be .....

1) 40 2) 30 3) 35, 4) 50

32) 15%@%%4{)%imﬁﬁmsmaﬁmaﬁﬂaaoaﬁ?m@msmaﬁtﬁmﬂwm%l
& el dEn B A A -
1) 40 2) 30 3) 35 4) 50

33) A person spends average Rs. 1800/- per month in first 4 months. In next 8 months spénds average
Rs. 2000/- per month. In the end of year saves Rs, 5600/-. Then his average monthly income is .....

" 1) Rs. 2000/ 2) Rs. 2200/ 3) Rs. 2400/- 4) Rs. 2600/-

33) s ey e 4 wre § alva 2. 1800/- 9ETE @ e € | o 8 Wi § ohae 3. 2000/ e
T o § 1 ad § 35600/ Tl a9 s § | A Sue ol mive o ¥

1) %, 2000/ 2) 7. 2200/- 3) . 2400/- 4) =, 2600/-

34) Aperson lent Rupees 10, 000/- at the interest rate of 10% per.annum compounded yearly. How much
rupees he will get back after 212 years.

1) Rs. 128101- 2) Rs. 12510/- 3) Rs. 12705/ | 4) Rs. 12910/-

| 34)@wﬁa?f%10000!—10%m%aaqﬁwﬁﬁémmmmﬁﬁtzvzaéqs'ma;m?f
i o wud il Red o
L D) = 12810/ 2) %.12510- 3) % 12*-’7051— @ 19100
35) At what percent yearly rate of compound interest a sum of money will become four times in two
years 7
E H 5% 2) 100% 3) 60%_;'- SN 4) 80%
i 35) i whism atde ety o @ R 8w a-atr d A e o @ e 7
i 1) 75% O D100% 0 D% b 80%

36) The compound interest on certain sum is Rs. 376.20/- and simple interest is Rs, 360, What is the sum ?

1) Rs. 2000 2) Rs. 2100 3) Rs. 2’3005« 4) Rs. 2200
36) ﬁa‘é’rz@ﬁza&m%q%m? 37620/~%6?RHTWW¥ 360/- % | aE aid e R 7
1) 2. 2000/ 2) %2100/ 3223004 . 4) 2200/

37) The average number of tuns scored by ‘A’ in the last 10 malo’ne@ is 42 and by ‘B’ in the last 15
matches is 57. What is the average runs scored by both 7

1) 47 ) . 2) 52 3) 51 : 4} 53

37) T 10 TR H AT & TR ShEd W 42 9u B mmi:&m&ﬁﬁﬁmmw i 57 % | Sy
o T T e wEY R

1) 47 2).52 35 | 4) 53

10
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38) A series of seven consecutivéintegers is given. In that series average of first five integers is N. What

P is the average of all seven integers. - :
o _ ' SN+2
1) N+2 . 2) N+3 3 7

4y N+1

38) fred % e mdﬁaﬁwwﬁgﬁi%iwﬂgﬁéﬁﬁ%mﬂsmﬁmN%fmﬁ
ar Fenl @ ofEd @ B ?

1) N+2 O N+3 3) 5N+2

7

39) If the average of m numbers is n2and that of 7 numbers is m?, then the average of (m-+n) numbers is
1}y m/n oy m¥n 3) mn | 4 mn

39) acﬁmmaﬁmeﬁaﬁ#% @‘I%’Eﬂ?ﬂg nmaﬁwaﬁa‘d 2, %, aﬁ(m-t-n)ﬂ@m@ﬁ o alrE E 1

| 1) m/n o 2) m+n 3 mn " 4) mn

4y N+1

40) There i is a tree on an island situated with in a river 100 meter wide. At the both banks of river Ehere
are two opposite points P and Q. Tree and both pe;mts areina stralght line. The angle of elevation
from point P and Q to the top of tree are 30° & 45° respecmve}y Then height of the tree is ...

nooly3-1) - 2psolya-1) 3 25(«/—+1) 4 100(43-1)

40) 100 Her A o # ﬁqwmﬂs%tﬁ%ﬁﬁmﬁwqma@i%ﬁﬁa%ﬁqPWQ
¥ 192 o o frg @rﬁ%@ﬁ%tPeﬁrQﬁq%ﬂgﬁsﬁéwsx30"3?:?450me

g & 1 A T e ©

1) 100{(3- 1) £ 2) 59(&4) 3) 25(~f+1) © gy 100(3-1)
41) If a shadow of a tower is /3 times of its height, then angie of elevauan of the sun is .

1) 30° 2)60° S 3) 45 : 4y 150°
41) o i 1 T B e T G A 3 0 T B e B A

1) 30° C 2 60° 3) 45°. o 4) 150°

42) From a point P at the ground a Jet Plane has 60° éngie of elevation, After 15 seconds its angle of

elevation becomes 30°. If Jet Plane is flying at the same height'of 1 500+/3 meters from the ground,
the speed of Jet Plane is . ' :

1) 150 Meter/Sec 2) 120 Meter/Sec~ 3) 136 Meter/Sec 4) 200 Meter/Sec

42) W ST W w1 I 0 S W 0 g PE 60°% | 15 Wlevs At Suel T 30° € o ¥
| afg S = T H 150043 He BLEEE S9E W I @ 6 A 9E @9 6 9 e
1) 150 HreA. 2) 120 e/, 3) 136 /. 4) 200 Hrew/d,

26- & : T S P.T.O. -
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43} Rs. 8400 is divided among A, B, Cand D in sucha way that the ratio of shares of A:B is 1:2, B:C s
© 31, and C:D is 2:3. Find the sum of shares of A& C and B & C. It is

1) Rs. 3600, Rs 4500
3) Rs. 3000, Rs 4800

.....

2) Rs. 3000, Rs 4500
4) Rs: 3600, Rs 4800

43) z.8400/-®l A, B, caﬂm%mwmmam%ﬁsm%@ﬂaﬁmm%wBC%:31
SR CDE23 AT CAN B aCH R @ a sna &9 | 2L

1) . 3600, 2. 4500

2) %3000, %. 4500
3) 2.3000, 2. 4800

4) %3600, . 4800

44) The ratio of total amiount distributed in all the malas and females as salary is 6:5. The ratio of saldry
of each male and female is 2:3. The ratio of no. of male and female is .

1) 5:9 2) 5:7 3)7:5 4 9:5
44) gudl ol afkenall & wer g & v o w1 AT 6:5 % Ludis gew oY we wieen &t el
| a“‘@‘“ﬁmﬂtﬂﬁ23%*%@@1%%@@%%&%%

L D 5o 2)57' 3 T:s |

.....

4)95

45) A bag contains Rs. 820!— in form of Rs. 5, Rs.2 and Rs. 1 c;oms The number of coins in the bag are
: imraticof 4:6:9, The number of Rs, 2/— coms in the bag 1s .....

1) 80 2) 100 ' 3) 120

'4) 140
45)@3@1‘3{9{?5#?‘21eﬁI?l/%W%mﬁismﬁ%iaﬁ%ﬁmﬁmwm
C 4:6:9F ) d 99 ¥ 2 - & Tyewl o g g o :

1) 80 : 2) 100 0 3) 120 4) 140

46) In an examination, 35% of the candidates failed in Mathematics and 25% in English. If 10% failed
in both Mathematics and Bnglish, then percentage of candidates passed in both the subjects is
1 50 2y 35

3) 57 , 4) 60

46). w ThE ¥ 35% sreadt Afw F ol 25% st § emeinf g 1 af 10% i eiw alich ST Rt
- orgeit gd o Gni femal H sl srefeal o e @

1) 50 ' 255 - 3) 57

.....

4) 60

47) If numerator of a fraction is increased by 200% and denominator by 400%. The resultant fraction is
: .

Ejfé“, then original fraction is .....
) : .

13 2y 11 3 6 o
| D13 ) 1 ) ¢ 4 15
26 @ o 12

A N et g e e+ e e
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47) %%%&%TﬁZOO%@RETﬁ%O%ﬁQ@&%W%EWWWI %fi’fn;?rﬁm%
D13, 2) 1/0 » % Rt

48) 35% of 42% of / of 500 will be ...

1) 63 2) 44 3) 52 4) 60
48) 500% % H1-42% T 35% BT .....
1) 63 2) 44 3y 52 4) 60

! 49) The simple interest on Rs. 1650/~ at the rate 4% p.a is less by Rs. 30 than the interest on Rs. 1800/-
i ' calculated at the same rate. The time period of money lent is .....

1} 3 Years - 2) 5 Years _ 3) 4 Years ‘_ 4) 6 Years

49) z. 1650/—@4%&%3?@@%%%3‘(@? 1800/-.q1mf&ramw 30/- %9 ¥ | TYUR
o o 2 aaEty § | ;
1) 39 2)5arc€ | 3)43&_ o 4) 6ad

50) A certain sum of money amounts to Rs. 2613/- in' 6 years al the rate of 5% per annum by simple
interest. In how many years it will amount to Rs. 3015 at same rate 7

1) 20 Years 2) 15 Years 3) 10 Ycars : 4} 5 Years

50) w e i 5% i T S 9 A ¥ 699 # <. 2613#%3?{1??(%'1%3‘{@{%%6%@3'
¥ 7. 3015/- & oA 7 -
1) 209 § 2) 15a9 § 3) mae?r?r' 4 sEdH

- 51) A money-lender finds that due to fall in rate of simple interest of 13%: p.a by 0.5%, his annual
income reduces by Rs. 104/-, His lent capital is ... -

! 1) Rs. 20800/- 2) Rs. 32800/  3) Rs.34600~ = 4) Rs. 36400/

- 51) W ARER FT 9 g € B aEne e & 13% Wi § 0.5% ¥ fnme B9 w sws aide
k . oTEEE W %104/ el B W B | wudy suw A S E L

1) 2. 20800/ 2} T 32800/ 3) % 34600/- 4y T 36400/

52) The sum of squares of three numbers is 532. And the 1atzo of ihe first to the second as also of the

second to the third is 3 ; What is the sccond munber ?

1) 10 2) 12 3) 11 4) 14

13 P10,
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52) fﬁﬁﬁ@ﬂﬂﬁ%@ﬁﬁ&ﬂ%%t@ﬁ@ﬁﬁﬁﬁ?ﬁmwmﬁma 2% | 593 T
a1 T 7
1) 10 2) 12 3) 11 4) 14

53) The ratio of the number of boj%’s to the number of girls in a school of 1638 students is 5:2, If the

number of girls is increased by 60, then what must be decrease in the number of boys to make the
new ratio of boys to girls as 4:3 7 :

1) 506 - 2) 466 3) 416 -4 496

53) 1638 freniiEt % wpw ¥ ol @ Ge o e & de e s 52 | af weel A de 60
G SR, A9 orl AR srell @ A g 4:3 6 S § ol o ol de ¥ g wn e i

1) 506 2) 466 346 4) 496
54) Ifa:b=4:5b:c=20: llandc d= 6 7, then value of 2 : b : c:dwillbe ...
1) 48:60:33:77 _ 2) 80:100: 44 : 66

3) 96:120:66: 77 | 4) 56:70: 66 77

' 54)trfézab 4:5b:0=20: 1 dRe: d= 67afﬁabcdwmm .....
: 1) 48:60:33:77 ©2) 80:100:44:66

s 3) 96:120:66: 77 4 56:70:66:77

1—sing .
e
14 sing

vy N _3)‘%:. - 9 N3

55 aRame=2 & L0 o ar dv )
3 Trsind

Dl DY 3?%. IO

56) If tanf = cbt@ » where < 8 < 7‘2 then value of © wiﬂ be

D% 2% N C» 7,
56)a%mezoe;emrg?o<é<%fheﬁm:r€m; | o

A % 3)%  b

N 57 If the Eeng{h of shadow of a pole on the level grozmd is twice of the iengih of that pole. The angle of
elevation of the sun will be

' 1) 30° 2) 45° 3) 60° ~ 4) None of thése

55) Htanb= -:ithen value of
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57) uﬁw%ﬁwaﬁmwﬁwﬁfﬁﬁaﬁmﬁm% | 71 T T IaT BV AT L

1) 30° '2) 45° 3)-60° 4) T § B 7

. 0—1 :
58) The value of ,/—— will be ...
sec+1 _ _

1) cotd—cosecd 2) sech— tanf 3 cosech —cot @ 4) tand - sec

S il QR
o011 : R
1) cot@—cosect 2) secO—tan® 3) cosec~cot 4) tan®—secH

59) If tan X = gin 45°. cos 45° + sin 30°, then the value of X wxll be ... |

1) 30° 2) 45° 3) 60° 4y 90°
59) Iif%tanX—sm45° cos 45° + sin 30°FﬁXEET ae @Tﬂ ..... .
1) 30° 2) 45° _ 3) 60° _ 4) 90°
60) In aright angle triangle the length of arms making right angle is a and b. Then area of the triangle will be
_ 1) ab 2) éab o 3 _;_a {a.z_%bz Y —;—b ,’ag_!_bz
60) U T Brye & TR T ael e B e a G b ¥ A Byw @ deww B
. 1 _
1 ab 2 %ab ) wzwa«/_a? +b% 4) --12-b«/. a’ +b’
61) In a rectangular quadrilateral ABCD BC=band AC=c, then area of the quacirﬁatcra} will bf* .....
1) b.c D b 3 hioe 4) bylc? -b?
61) s eramme g ABCDﬁBC baﬁTAC ¢ ez gan% | mgda @ msﬁm ......
Db 2) b £ & S8 bt 4) et -b?

62) A rectangular quadrilateral is divided in such a way it get divided into two squares. If each arm of
squates is “a”, then the length of hypotenuse of the rectangular qdddmateral will be ...,

D 2a 2) 3a 3 2fa 4) V5

62) UF AR TIYH ¥ € THe o VGR Y 9 ¥ I 95 o TR gade § el B b | Ol
R UGS B U YA e A eI agye & R o @ e
1) 2a 2) V3a 3) 242a 4) V5a

15 ) P10,

o s st e .
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63) A runner completes a race of 4.40 Kilometer by taking 10.rounds of a circular field. Then the area.of
the field will be ...

1) 15200 sq.mits 2) 15600 sq.mts 3) 15400 sq.mts. 4) 13800 sq.mts
63) U urEs U R BEA % 10 gEeT et 4.40 B . 8 gl S ¥ | A B w0 denee g
1) 15200, . 2 15600 7. . 3) 154009, . 4) 158004, .

64} A man loses 20% of his money. After spending 25% of the remainder, he has Rs. 480/- left with him.
How much money did he originally have ?

1) Rs. 872/- 2) Rs. 840/- 3) Rs: 800/ 4) Rs. 820/-

64) Waﬁﬁ&qﬁwaﬁzo%wﬁiéaﬁﬁam%l%&nﬁﬁ%%%@ﬁw%qmﬁm%w
| T 480/~ 99 ¥ | IG% 99 WO %ﬂ%mmﬁéﬁ? ‘

1) 2872 2) z. 840/- 3) 2.800/- 4) % 8200

65) A merchant purchases an item for Rs. 500/- He marks at its pnce Rs 700/-. He allows 10% discount
on cash payment what is total profit in tcrms of amount and per(:entage?

1) Rs. 130/226%  2) Rs.150/30% = 3) Rs. 120/-24% 4) Rs. 70/~ 14%

65) qmmﬁ@m@f.smﬂﬁaﬁaﬁr%lﬁzWi?;OO/-@aiﬁﬁm%lﬁgm‘ﬁ?lﬁﬁ“
10% 0 e % § | el ok ey ¥ gw w7

L D RIA6%  2) RI50530%  3) %120-24% 4) .70/ 14%

66) If cost of 20 pens is equal to the selling price of 25 pens. What is net loss percentage ?

1) 25% 2) 20% 3) 5% - 4) 15%
66) aﬁzoﬁﬁﬁwzsﬁmﬁﬁmm%wélwaﬁmgﬁmw%?
1) 25% 2) 20% - 3) 5% 4) 15%

67) ‘A’ started a business with a capital of Rs, 10,000/-. Four months later ‘B’ Joined him with a capital
* of Rs. 5000/-. What is the share of A in total profit of Rs. 2000/- at the end of the year 7

‘1) Rs. 1200/- ©2) Rs. 1300/ 3) Rs. 1400/~ . 4) Rs. 1500~

67) A’ %=, 10,000/ &1 Golt ¥ =nuw g% Tean | w wies uven <. 5000/ @1 Il e B e a
g a0 1A S § e W 20004 HOCA mRET R 7

1) %1200~ 2) %1300/ 3) <. 1400/- &) 500~

68) A milkman procures 20% more milk by fraudulent measurement. He sales it by mixing 25% water
in it. His total gainwiil be .....

1) 45% 2} 40% 3) 50% 4) 48%

2%- @ L

A1 et e oo
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68) e ity SEaTE & VR 20% T iftns wen € | 9 Iuy 25% 9 MR de § 9 g whe
1) 45% O 2) 40% ' 3) 50% 4)' 48%

69) ‘A’, ‘B’ and ‘C’ enter into a parinership. ‘A’ invest Rs. 320/- for 4 months, ‘B’ invest Rs. 510/- for 3
 months and ‘C’ invest Rs. 270/- for 5 months. If the total profit is Rs. 208/~ then share in profit of ‘C’

18 ...
1) Rs. 64/- 2) Rs. 76.50/- 3) Rs. 6750/~ 4) Rs. 68/-
69) ‘&, "B’ 3R C’ wrEErl § it € ¥ | A4 91 % foy 7. 320/, ‘B’ 39K % R . 510/- 3w C
SuEF Ry L-m e e R pu A L 208 W R M A H O R ¥ L
s\ 1) z. 64/ 2) 776,50/ 3) 26750/ 4) 2. 68/
70) If az+ﬁ:% then (1+ tana)(1+tan B) will have value ...
| 1y L 2) V3 H1o o 4 2
Vi ) V3 : ) 1  o ) 2
70) Tl 05+/3m§~ G (1+tan@)(1+ tan B) & A AT ......
1 ' ‘ ' |
1) = : 2) 3 1 - 4) 2
) 7 ) V3 3) )
71) If cos*0—sin'8 = 2/ then value of 1~2sin°0 will be ..... | \
b3 2) 0 3) % _-‘”A
71) a}""é:'cos‘*@msin“()'m% a9 1—2sin®0 s 7 BRI ... o .
Dy Do n% o » Y
H’ 72) The ratio between of a square shape and a circle of maximum radius within it is .....
IS 2 2w 3y 3w 4) 4
y 72) e AR gl @ i ol wEE ofey sftemee o & g ik e ema ¥ o
) L 2 2 3) 3 | 4 47
| :
L - PO
f

b e St e ot Mt w1
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73) In a given figure a semi-circle is drawn at the base of an isosceles triangle. In that tang = % and

diameter of semi-circle is 2a. Area of the figure is .....

1) (1{%) o

D) (1+7)d

) ()

' i+7y 5
o (52):

73 ﬁ@a@%q@w@m@%ﬁ%mmw
J%m%lmﬁlm@ 2 T
Vﬁﬁzﬂmh%‘iﬂ@ﬁmaﬁw% ......

b (+74) 0

2y (l+7)d

74) The measuréme;hﬁ of outer periphery of the :ﬁgu;e' n question no . 73 1s ...
D (ViE+z)e  2) (WTsm)a  3) (ViT+7)a 4) (5+7)a
T4) W wE 73 %1 g H e WY wAE T
D (\/l‘g—l—ﬂ")a 2) (2vr£+ﬂ’)a 3) -(\/ﬁn"{*ﬁ)fy | 4) (5+7Z')a

75) A square has area 121 em? by folding a wire in. square shape If the same wire is folded in cireular
shape, then area of circle will be ..... - '

1) 144 cm? 2) 180 cm? 3) 154 em? 4y 176 cmw?

b

&

N

@
-
o
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75) v AR H U o % AE H RIS M W 9 & 49%d 121 4. uﬁl%!ﬂ%sﬁaﬁa‘;‘rqﬁsw
% AIE W9 a1 g B SEE B . l |
1) 144 %, 42 2) 180 . W2 3) 154 9. AP 4) 176?{ rﬁﬁ

- 76) What 1s periphery of a rectangle ABCD? , if AD = 3 and BD = 5 is given
D12 2) 14 3y 16 4 17

76) uw FEE ABCD %1 GRAY F1 ¥ 7 9% AD =33t BD =54 % |

1) 12 D14 3) 16 4 17
L 77) If psin6=gq and 8 is an obtuse angle, then value of \/p* ~g® x tan8 is ...
np 2)q R R
77). afg psind = qa&neqaanmm%laa,/ e xmnew’@fﬁ%w-i |
pe . 2gq Hrea 4 Y
78) Arca of the gwen field book 150
1) 510
2) 492 |
©3) 490
4) 520 |
78) & Tﬁﬁ%‘ o @ aﬁw = R
1) 510 fi
2) 492
1 3) 490
4) 520

| 79) Field book given in question no. 78, the area under triangular shapes is

1) 250 2) 260 3) 240 ' 4y 270
79) we wem 78 ¥ & g% Y s snsiadl e e B L
1 250 ) 260_. 3) 240 4) 270 i

19 | PO
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. 7
8() 1f sin0 —cos = Egaﬂd 0<b < % then the numeric value of gin@ +cos6 is equal to

N ' 13 1 6
D — 2) o 3N — 4y
) 13 ' T ' 13
we ) N :
o 80) o sme—cossz-;gm 0<8<% T sind +cosd P TEITHE TF GUA §.
N | *-
17 13 1 6
; 1y 22 o Y 3y o 4y —
) 13 ‘ ) 17 - ) 13 ' ) 13

81)  Which of the following pairs are c.orre_,ctly matched ? Select the correct answer using the codes given

below -
I ~ District  Shape
SR (i) Jodhapur - Trregular Polygon
E (i) Sikar - Crescent - Shaped
(i) Jaisalmer - Peacock - Shaped y
(iv) Karauli - Duck - Shaped '
Codes :-
D Gand(v) - 2) (i) and (i) 3y Only Gv) 4) (i) and (iv)

81) ﬁq%@aﬁamawﬂﬁgﬁﬁm%?mmm%ﬁﬁmﬂmﬂéwgm

Sl B icaty
(i) ER - frafE agsTeT
(i) drT - FEURHR
: (i) g - YR
g (iv) HUF - AETERT
M; : P - |
1) e Gyy 2) @heErGin 0 3) '_%mmiv) 4 @) ER V)
2%6- 6 20
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82) In the above map location of those villages has beén shown ffom which north - south and east-west
extent of Rajasthan is measured. These iocanons are malked as{i), (n) (111) and (w) Idenufy their
correct sequsnce from the series given beiow - ' ' ' '

1) Borkund, Sylon, Katra, Konda A ) Konda Katra Syi()n Bo;kund
3) Sylon, Konda, Katra, Borkand 4) Katra Konda Borkund, Syion -

82) mﬁ%ﬁﬂﬁwﬁaﬁﬁaﬁéﬁﬁﬁmw%aﬁﬁmmﬁﬁmmﬁ N —

mm%!%%ﬁmmxmomwumé&mﬁﬁﬁ%iﬁ%ﬂmﬁmwﬁﬁﬁﬁﬁﬁaﬁm
3)  Foeitn, @, wow, dRge 4) . meq, @, “Q’R‘@”QW?T

S e T

83) Examine the following statements regarding physical divisions of Rajasthan and select the correct
© ansSwer 'us'iﬁ'jg the codes given below - . o : '
(i) Western sandy plain extends over 61.11 per cent land area of the State -
(i) Aravalli thountain region extends over 9.60 per Cent land area of the State
(iii) Eastern plains extend over 23.03 per cent land atea of (he State _
(iv) South-eastern plateau region extends over 6. %7 pex Lent Iand area of the State

R

Codes :-
D (). (i) and (i) 2y (i) and (D)
3) (i) and (iv) 4y Only (i)
e : .} e o ane
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83) W%svﬁ%mmﬁ%mqﬁmﬁﬁ%mﬁmﬁmaﬁﬁmw{%%m@ammw
0 W%élllﬁ%ﬁ?ﬂﬁ éaﬁq@anrﬁﬁm%sﬁm%s
(i) T % 9.60 vide &ﬁﬁﬁmmﬁfﬁaﬂﬁlﬁ?
(i) g % 23.03 Wfterr g8 F odf Fap ar e )
(w)w%aﬁsﬁmaﬁawa@mﬁwﬂmﬂwfmﬁ%s

@E ) L
| 1) (D), iy 317 (il : S 2) () 6?1‘{ (m)
'ﬁ 3 GipelGy - o 4) ‘E’ﬁm {;; 4

84) How much per cent area . of the sandy p}am of weswrﬁ Rg_;asthan is dune - free ?

D 415 ) 186 4 147
84) WW%@%W@WWWWW aaﬁ%'?
1) 415 ) 186 3) 6LIL . .. &) 147

85) Arrangc the foilowmg mountam pf:aks of Aravaihs in asccndmg order of their beig bht -

1) Kumbhalgarh }arga Raghunamgarh Achalgarh
2) Achalga_rh. Kumbh_algarh Raghugathgaih Jarga
3) Raghunathgarh - “Kumbhalgarh ‘Acha}gath Jarga
4} Jarga Achalcarh Ktzmbhaigarh Raghunathgarh

85)Mﬁmﬁmmamﬁwﬁw%umﬂqm&wm

1) SETE - SR - TS - SRS
2) SFERTg - AT - TG - T
4) - SN - ST - FHATE - AT

86) In‘termis of eéi;teni df*dmgnagg area the correct ascending order ofthe river systems of Rajasthan is -

1) Mahi - Banas - Luni - Chambal _ 2) Lum - Ma}n - Chambal - Banag
3} Chambal - Luni’- Mahi - Banas gy Bfmas Main «Luni - Ch'xmbai

86) ervaw £ B e % gite § e & N a1 ud ondd we B -

| Ly W@ - e - g - aRE 2) T - A - T -
- 3)  wEw - WA - IR - ST SEEPANE - I A c T

i
i
k
S
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K Rajgtg;n Punjab - : TR
oppen’s Climatic g our oy e
Roci ) : WERTY WY

87) In the above map of Rajasthan Koppen’s C!unatic regions have been marked as (i), (i1), (i) and (iv).
Identity their correct sequence from the series gwen be]ow -

1) BWhw, BShw, Cwg, Aw 2) Aw, cwg, BShw, BWhw
3) BShw, BWhw, Aw, Cwg ' 4) Cwg BWhw, BShw, Aw

- 87) W%Wﬂﬁ%ﬁﬁaﬁﬁw%mmﬁmw, (i), (m)ai’ﬂ(w)@aﬁamw%i*ﬁ%r
& T wET W S WE SThY UEdaNY -

1) BWhw, BShw, Cwg, Aw _ Ca 2) ﬁ_wg C'v;rg,‘BShw, BWhw
3) BShw, BWhw, Aw, Cwg < 4) Cwg, BWhw, BShw, Aw

88) Assertion (A) - Sierozem soils found in Rajasthan are relatively less fertile.
Reason (R) - Sierozem soils are deficit in nitrogen and carbonic matter,
Codes :- ‘ ‘ ‘

] ) (A) and (R) are both correct, but R) does not conecﬂy explam (A)
2)  (A)and (R) are both correct, and (R) concctly explams {A)
- 3)  {(A)iswrong, but (R) is right :
4y (A)1s night, but (R) is wrong
88) WA (A) - TIRIF H WE S el diiom g1 e sa vl s o8 R R
I (R) - Hidom 8 § wgersrs qur sidfe gsal o edl e &1
EAR ‘

) (A SRR EFAT TR E, UG (R) (A) W s e e
2) (A) &R (R) A w8 E, aar (R) (A) @ B8 wna gl
1) (A)UEd B, U (R) 98 T
4y (A)®H & urg (R) Tod € |

26 - & 23 PT.O.
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89) Match List - I with List - 11 and select the correct answer using the codes given below -

List-1 List-1I
{Wildtife Sanctuaries) ' (District)

4 ' ~A) Band Baretha y (1) Jaipur

E : By Sitamata ' (i) Udaipur

- () Nahargarh (i) Bharatpur-
D} Phoolwari-Ki-Nal - (iv) Chittorgarh -
Codes :- B

A B C D

D@ G Gv) G

2) () () Gi) (v

3) @) Gv) @ 3
L & v G O G

89) e - Ion |- 1§ g oA e A R T e B TR ER S g -

(g AE avEre) - (frem
{ A) @A () AR
= B) Wil | | (i) ¥Eag
A Q) TR (i) wTegy
| . D) GEaErs-AR o (iv) fadiigmg
o Fe .j .

‘A B C D
| oW G @) G
2) G @) G v
3)  Gi) Gv) @) Gi)
4) v (D) @ 3

90) In terms of area the largest agro - climatic zone of Rajasthan is -

1) Irrigated north - western plain 2) Humid southern plain

3y Arnid westgrn plain . - 4). Flood-prone eastern plain

90) eEww @) g ¥ T W T g2 FY- o wuE T -

1 fafas sacafad fem 2) o sl
3) g oivedl fem 4y =g wdE g e
- 26- @ 24
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91} In the above map of Rajasthan areal distribution of famous breeds of livestock has been marked as
(), (id), (iii) and (iv). Identify their correct sequence from the series given below -

1) Tharparkar, Rathi, Gir, Kankrej - D Kankrej,‘ Gir, Tharparkar, Rathi
3) Tharparkar, Kankrej, Gir, Rathi =~ 4) Rathi, Tharparkm Kankrej, Gir
. . . R L0 ST '.'_

91) wméawm%aﬁagaﬁa%mwéamﬁmﬁamg (i) 3l v) & i R
% 1A & T FEel W S Tel N usaley -

1) AREER, T, R, e 2) EEE, TT‘rz W T
3) URIEN, @S, TR, ua% 4) TE, AEWER, FH, W
92) Match Llsi T with List - IT and select the comrect answer using the codes gwsn bLlow

List-1 o List-H -

(Irrigation Project) = {District)

A) Bankli Dam : _ ; (i}'j Pratapgarh

B} Som-Kamla-Amba (i) Sawai Madhopur

) Morel Dam : (iii) Jalore

D) Iskbam Dam | ' (iv) Dungarpur

Codes ;- '

A B C D
O v GG
2 (v G G) )
3y Gi G G Gy
4y () vy Gy ()

26 - & 25 P00
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92) wEl - I et g - Ilé@ﬁﬁﬁﬁqam%%ﬁqmﬁﬁmmmﬁmﬁ

el -1 udi -1 :

(Rfeng i) | (Fem)
‘ A) dieed dig L () Harg
i B) - (i) wAE R
E ‘ C) i &ty | (i) T

D) e &ty (iv) ERE

e -

A B C D
o0 (v G @)
) Gy @ G G
PG G O )
4y (i) vy (1) @)

.

93) Match List - I with List ~ II and select the correct answer usmg the codes given below -

List-1 ' ' _ List-11

(hrigation Project) - - ¢ {Associated States)

A) Chambal B (i) Rajasthan, Madhya Pradesh

B) Mahi-Bajaj Sagar - - ' (il) Rajasthan, Punjab, Haryana

C) Beas : .- (i) Ragasthan, Gugarat : _
D) Sardar Sarovar g Gv) Rajasthan, Gujarat,MadhyaPmdesh Maharashtra
Codes :-

A B C D
1 Gv) G @ i)
2) O (iif) (11) (w)
3y @ vy (1:1) @Gi)
4y (i) ). av) (n)

93) gt - 1T G - IIHWWE%‘%%FQWWWWW@WW

qar- 1 | CIRp

(far oo - (T TH)

&) wEE (i) TR, TR

B) ARIEE HRE : (i) TowE, g, Bl

O =@M ' TR (i) T, W .
D) w¥Er HiE ' (iv) TR, JOEE, RETRY, TR
He - ‘

A B C D

| DG G) @ d
| 2) O G G @)
3y Gy Gv)y Gy 4y
A4y Gi) 6 @) G

)
e

S e e P S e e
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94) ‘In the
G), (u

1y

Raiasthan
Irrigation Plan
“of Indira Gandh! Canal

GET IT ON
Google Play

above map of Rajasthan location of lift projects of Indira Gandhi Canal have been marked as
), (iil) and (iv). Identify their correct sequence f_r(_)m the, series given below -

1) Panna Lal - Barupal, Karni Singh, choudhary Kum};ha Ram, Jai Narain Vyas
2)  Jai Narain Vyas, Panna Lal - Barupal, Choudhary Kumbha Ram, Karni-Singh .- -
3) Karni Singh, Jai Narain Vyas, Choudhary Kumbha Ram,Pénna Lal - Barupal

_ 4) Choudliary Kumbha Ram, Panna Lal-Barupal, Karni Singh, Jai Narain Vyas

94) ITF ¥ I WAL § ghew id e o frve aidemel @ Rafy @ (), b, @ o Gv) B

s T mar ® 1 WY & v waed ¥ e w8 SEm vedig -
1) U= - aEar, gofie, Sl g, SR e
2) SREIEO A, TR - G, A Heee, siiie
3) woiie, SUMREY S, Sl $RRE, I - aeaeE o
4) el R, T - RO, SIHE, ORI @

95) Which of the following water problems in Rajasthan is currently assuming worrisome dimensions?

Excessive exploitation of water
2)  Increasing pollution of water
3y Increasing salinity of water

4y ]_z.]m"casing number of dark and grey zones

95) FEAF T I W Sw & el aae gaifas e il on @ g
1) S sia-dasiEe 2) I W el YEuw _
3) Sl o gEdr @guar ' 4y oy SR g T & "ed) dem

27 . P.T.O. -
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96) In terms of length within Rajasthan territory the correct a sc;endmg order of the follewmg National
Highways passing through the State is -

1) NH No. 79-114-3-89 2) NH No. 3-114-79-89
 3) NHNo.89-134379 - 4y NH No. 89-114-79-3

96) Trewerrd Y-8 W @ @ gfe W Tow @ qoe aw e Tt el aomndl @ ad R o E
1) T O e 79-114-3-89 ' 2) ArE TRl e, 3-114-79-89
P - 3) TSN OHE T, 89-114-3-79 4) LT TR ST 89-114-79-3

97) Major Lignite coal pmducmg fields of Ragasthan are located in -

1) Kapurdi, Merta and Barsmgsar - 2) Merta, Palana and Sonu
3) Barsingsar, Augucha and Merta 4) Palana, Sonu and Kapurdi

97) wora ¥ feige. BO SHET 5§ NgE A R 3
1) g, e o e A 0 2) dga, e o G 8
3w, o AR AR R 4) Wmﬁﬂm{@ﬁ

98) Match List - T with List - I and select the correct answer using the codes given below -

List- 1 L List - II ;
(Minerals) (Mmmg A,reas)

A) Copper ' © -~ (i) Rajptra- Dariba
B) Leadand Zinc ' - {i1) Nathra - ki - pal
C) Beryilium © (iii) Khoh - Dariba
D) Tron-Ore _ -~~~ {(iv) Bander - Sindri
Codes - '

A B C D
Iy ) @i (v) (i

2 i) @ dv) @)
3y @) vy ) @
4y (b i) av)y 6

28
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9@@Hﬁ@mmwmﬁmw%WWWWWMW%mwm

ghr -1 =] -

(@) (& &)

A) diEr ) TRIYY - &hE

B) €& ud wEn (1) YT - & - I

O affrm (iii) @ - o

D) @ - waw S (iv) FRT - geh

Fe - |

A B C D
H @ G Gv) (i)
2) @) () @v) ()
3) i) Gv) () @)
4y D @) Gv) @)

99) Examine the foﬂowing'statements regarding instruments used in chain and tape survey and select
the correct answer using the codes given below - ;
i) In Gunter’s and Engineer’s chain each link i is respectzvely 0.66 and 1 foot long _
ity 80 Gunter’s chain = lmile, 10 Gunter’s ¢hain = 1 furlong and 10 square Gunter’s chain = [ acre
ili) In highly accurate chain and tape surveying metallic or sgf:el, tapes arc-used
iv) | In optical square both the rectangular mirrors are inclined at 55° to each other

Codes :- » _ _
1) (), (iti) and (iv) : | | 2)  (it), (i) zlxid Gv) .

3) (i) and (i) o ‘j-@mmw

99) srfr qur iR wEerr § wge sHell & e & R wes w1 T SR ger T fag 7@
e @ WA 9 g8l wat g -
D e SR TR sthe  ude a9 wu9 0.66 SR 1 Be ael el §
ity 80 Y FE = 141, 10 e T = 1 GEiT a9y 10 99 ey S = 1 U A R
i) @f - cﬁ@uaﬁaﬁmwﬁﬂﬂéwwﬁaﬁwsawxgwszWYwrmﬁrﬁwrwm%1
iv) weehia T (Optica] Squ’ue} q Ml SHOAER §YU WER 55° B0 U gh Bid €

g - .
1) (), (i) and (iv) : (D, (iiij and (Gv)
3) () and (iin) 4y (i) and (ii)

25 PT.0.
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100) What type of obstructions do the intervening buildings and railway tracks create in chain - tape
surveying? Select the correct answer-using the codes given below -
1) Ohbstructed vision
ii) Obstructed chaining _
i) Obstructed vision and obstructed chaining both
iv} Obstructed magnetlc north
Codes

1} (i) and (v) 2) (i) and {(iii) '3)  (iii) and (iv) " 4)  Only (iii)

100)%%%%%Wﬁ%?ﬁ%ﬁmﬁ@aqﬁmﬁwﬁﬁwwaﬁwmm%Hﬁ%f&q
QBT T S BT qE TR ghe -
i) ey gfe
i) omtg WEF W
i) IEreE gt qu wasg THH 9 aEt

iv) Tl gEmig T
Eﬁt -

D W (iv) 2) (i) R (i) 3 G)ERGY 4. I i)
101) is the term given to the _practicé of illegally do'w_iﬂoading movie from a website ?
1) Parity 2) Plagiarism - " 3) Piracy 4 Privacy
101) wh uftaner & off dEaige ¥ ordy wu @ g eREAds we & e Ry o g

) IR L) WEERE L 3) o 4y e
102) The contents of infc)rimat_ion*a'réﬂstored in ? _
1) Memory data register . 2) Memory address register
3) Memory arithmetic registers | 4) Memory access register

102) SFRBI %) arl Rewd oo & ondt ¥ 2

D A e A 2 fﬂﬂﬁ s ey

3) A geidfes e | 4 mrﬁq&éer%fm
‘03) Which of thc followwc it correct full foxm of BCD ?

1) Bmaz} Coded Dccnnal - 2y  Bit Coded Decnnal

3) Binary Coded Digit 4) Bit Coded Da.glt |

103) BCD 1 98 qof & e H G g wr & 7

) EEE wmiEE qynEy 2) R wee ey
E 3) gl s B 4) fae #ez ki

' 26 - &
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104) Main storage is also called ? . _
1) Accumulator 2) Control Unit 3) Register Unit- | 4) Memeory
104) T gET Wery ) e o § ? -
D wEEE ) ReEmemd %) ®wcafe 4w
s - 105) The memory which is programmed at the time it 1s manufactured is 7 ]
§ 1) ROM 2) RAM - 3) PROM | . 4) EPROM
105) =% Ffw & oy o Mo B sran R, we W@ R 7 ‘
1} ROM 2) RAM , . 3) PROM 4y EPROM

106) What does CD ROM stand for ?
1) Compactable Read Only Memory _
2) Compact Data Read Only Memory .
3) Compactable Disk Read Only Memory
4) Compact Disk Read Only Memory

106) HSt ¥ ol v v ®
1) Compactable Read Only Memory
2) @®a FeT Read Only Memory

3) Compactable &5 Only Memory
4) #MaE $%5 Read Only Memory

107) Which of '_the following memories must be refreshed many tixﬁcs pe:r;seco'nd 7

1) Static RAM 2) Dynamic RAM  3) EPROM 4y ROM.
107) 7% Bl W 8, o o e o AR e B o R 2

) BREW 0 2) wwEEE I 3) EPROM 4 ROM

~ 108) Hard disk is coated in both side with 7 |

1j Magnetic metallic oxide | 2} Optical metal]ié_oxide

3) Carbon layer 4) All of the above
108) v fowp % O v Fowh Gm AR E P | |

1) e um s 2) eifegw O s

3) R wE R Wﬁ"“? w0

109} Which of the following storage device can store the largest amount of data ?

1) Hard Disks 2)  Flash Disks 3) Blu-Ray Disks 4y DVDs

26- & - L . pro.
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109) fpy foaftgmr siemor g § & fesad Eer o ol ad) of @R @ gwa £ 7
1) e R ) wa R 3 =l 4) S
110} Cache memory acts between____ 7 '
1) CPU and RAM i | %) RAM and ROM
3y  CPU and Hard Disk 4y None of these
110) Cache #¥l) T 3t % o ord e & 7
1) CPU iR RAM ¥  2) RAM &R ROM
: 3) CPU &Y =g f2wp 4 T g EE
: 111) What is a.Compﬂer 7 |

1) A combination of computer hardware ‘
2) A program which translates from one high-level language to another
3) A program which transtates from one high-level to machine level language

4) None of these

111) wapser Fr & 7
D Wgﬁmﬁ@w
2) mwﬁw@@ﬁwm@m
3) naﬁ#wﬁrwwmmﬁm%mwm
4y zwH W EE W

s

112) What does GUI stand for ?

l") Gaming User Interface. : 23 .General User, Interface

3) Graphical User Interface 4) ‘Guidance User Interface
112) GUI =1 a1 @ gar & 7 | |

D Wi ger feden L 2) ST T ECUER

3) miEEE gOR ZeThd L4y TiEEY e ety

113) Which of the foliowing entity does not belong to word processing 7

1) Characters 2y Words © - 3) Cells - 4) Paragraphs
113) 7€ WieT & R e owr B e 9 mﬂ%r:f REE 7
1) SvEey 2) 9= ©3) Eed 4) WETE

- 32
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' 114) FORTRAN is programming language. What does FORTRAN stand for ?
1) Forbid Translation 2) Format Translation
3) Formula Translation 4) Fortune Translation
114) $RerT we s W &, Sreew @ aar el @ E o7
1) Forbid SIS o 2) Format ZRSH
3) Formula TR | . 4) Fortune ¢RIATH

115) Which language is directly understood by the computer without translation program. 7
1) Machine language ) Assem.bly_lan.guégé
3) High level language ! 4) None of above -

115) & & s 9 sEe & R s e A A v 7

1) =Sl s ‘ 2) HEE W
3) Tod W W | 4) HR B BE T
116} ,The original AS_C_.K code used bits of each byte, reserving that last bit for error checking ?
5 2) 6 3y 7 4 8 |
116) 3 %) sifa 3 o s ASCIL %1 & S @i 2 it o e % e owdm i 7
H 5 6 » 7 4 8 |

117yTo auto ﬁt the width of column, in Excel Sheet ?

1) Double click the right border of column
2} . Double click thé left border of colutnn
3) Double click the column header

4y Allof ‘above |

117) el offe ¥, e @i 92 @l siicl fbe & & g 7
1) T % o G saw s 5 ‘
2) - BIEH & A WA O S9W [T 6L
3) wieH 3¢ U Baw R el
4) ITUEE @l
118)Which can be used for quick access to commonly used commands and tools 7

1) Status bar 2) Toolbar 3) Meoubar '4) Title bar

33 PO,
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118) s1eit 9¥ Twmi commands and tools 9 @Ra 9gg & fore geowe e o weem & 7

1) ®eq ar 2) AR ' 3) AR 4y o aw
119) Which of the following is not valid version of MS Office ?

1) Office XP _ 2) Office 2010

3) Office Manager ' 4y ‘None of them
119) MS 3T @1 J9 dew B § @ dmw ad & 7

1) s XP _ 2) g 2010

3) SifES Manager S 4) W@fﬁ?ﬁ?f

120) Which of the following function, prov1des a hst of other w ords that those who are actually or nearly
the same meaning is ?

i) Find o . 2) Replace
3) Synonyms : 4 Spelhng and Grammar

120) e 3 ¥ SRR e, Q@raﬁs@aﬁ“f@mm% Gﬁwwﬁmaﬂm@aaﬁaéﬁ% ?
1) @ | : 2) aﬁﬁ
3) WE 0 ) T o e
121) A Digital signature is 7 A B
1} A bit string giving name of a corrcspohden_‘t BN
2) A unique identification of a sender

3) An authentication of an electronic record by tymo 1t umquely to a key only a sender knows
4) A printed mgnamre ofa sender

121) u fafrea @y & ? 4
1) s fae gam, W R e @ A 8
2) uE UwE @ wE R wedm ' L
3) @Wmm(ﬁmw%m m%%%‘fa‘a&r@ﬁwm%
4) U Y9H B U T T

122) How do you select an entire column 2

1) - Select Bdit > Select > Column from the menu

2} Click the column heading ‘ | | |
3} Hold down the shift key and click anywhere in the column
4) Hold down the Cul key and click anywhere in the column
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122) 33 oM U QY R T a5 E 7

1) ufge & =97 B > A A > Hied g

2) wiew o uT e @Y

3) f\mww@eﬁtwﬁ%‘wﬁmﬁ
4) Culwmz@aﬁ?wﬁrm”raﬁﬁwﬁ

123) To create a formula, you first ‘? !

1)  Select the cell you want to place the formula ini{i '

2)  Type the equals sign (=), to "téiigExcel that you’re about to enter a formula ...

3) Enter the formula using any mput values and the appropriate mathemaacaj operaters that make
up your formula i

4)y  Choose the new command from the file menn

123) v e T 3 R, e o 7
1) wrden ® A § @ o '
2) R (=), aﬁmq@aﬁw@rmma@%l ‘ |
3) wmmwﬁmmmmwm%mmmﬁ
4) Wﬁi%wmgﬁ :

124) Comments put in cells are callgc_i ?

1 Smartiip ) Celtp 3 Webdp  4) Softip
124) &t ¥ = T A A T w A E P | u s
1) wE R ) wWha 3) %(érféq 4 EEE R

o 125) You can use the format painter muitzp}e umes befare yeu tam it off by ?

1) You can use the format pamter buiton on}y one, time when you Cl;ck it
2) Double clicking the format pamter button '
3) Pressing the Curl key and-click the format painter button

4} Pressing the Alt key and click the format painter button

125) a9 Wi Yer & g SUON @Y 9Ed ¢, 39 9% o 4 uRd 7
1) M R ox e w1 ww e e AR w5 W ¥, o o g e we
2) wiE YT ged W S IR

3) Ctzlmaam*@a{ﬂmﬁaawwﬁﬁ?
4)  Alt o s W@ SR wibe Yot 9ed W i

26 - ' - 3B . S PO,
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126)%%’1&@%%%&?—%_%-

1) wen 7 2) o 3) ger ' 4) g
127) e 7 ST T E - | -

1) T 2 PreEEm %) srEEE 4) g
128) et & fiftfr o T ¥ - | .

1) SEmR ) sam . 3) "N 4)  qEERTERT
129) s 7 & - SRR P

D st ) URESE 3) . @A 4 T -
130) TR HF - WW&?% T | |

1) e Y o 2) %@r%mﬁa '3) T F o 4) mﬁw
131) ‘meeN= qrfie 9 § 999 € - i . _

1) ages 2) TR S wEEEE 4)
132)%%@%3@%@&%@%@%@&% ”f-‘fab%'?f%

1) wdam ) wRE 3)_ i 4 Rdw
133) v, %o, wer o oM R E - |

1) yreg o) dfw g %) WmEwug 4 TEEg
BT =t |

1) HeE 2) W 3) B 4y faRsh
135) ‘ swed & fita o0 78 E - | St |

1) R S Y mEEE L 3) H 4) wfes
136}%{33&?@'%@@%@%8@%@%3@% ” |

1) R - AR+ eR . 2)%’& m+@

3) e - HEq 4 W co oy d) UEE - Y 4 S
137) “Ge @ HEE @ oy ¥ - -

3y ghamd w S ) FgEdl, wWE BN

36
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138) argfevmy a1 et g & -

D s 2 -3y 4 A
139) 9% e TE E - |

1) wufted el 9 e 2) TAY BIS B A O Ta |

3y TET S dlg | o (e | C4) o T e IS
140) “erehy a1 qafrardy v 7 % - |

1) &R 2 Am 3) mET - 4) gosiE
141) v i & - |

) 3 2) 7 _ 3) & 4) 4
142) W& + a1 918 &1 Wiy e - |

1y W 2) werH 3) wEEH | 4) g
143)gsror grex WE ¥ - o |

1) g 2) & 3) wem 4 3w

144) f@m 9=z - g T8 ¢ - | |
1) HYU - HIE 2) wEE - AW 3) AEE - S P
145) Implementation %7 &= TR¥Ifv% o1 & - -

1) i e 2) Ffeend 3) mﬁa | 4) wrEtEEs
146) ‘g &) v ot af Rl emnrd B ¢ 9w s % SR % Rew emede § A § -
1) ET 342 2) SEE 343 3) FHWT 344 4y IedE 345
147) 978 9 W & - | : | -
D I 2) 99 3) wrad 4) a=

148) S o7 e By - .
1) P 2) fafemr "3) it ) Ew

149) &t & qig § wgw dia aried o Meead o € -

1) T a2 @ wr gz gom £
2) &g W% G el & o U 8 oud ' o
3y alt Wdl wfm g oF ey owiE s §oar ouw o A g B

4y T wm o &9 § 93 el % orawd B 9T BT 9F ®I & a4 B ofEr ¥

26 - % 37 | P:TO
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g

)

CARe

150) st - ety g

2) FER - Gl

1) T - T
3) Uhd - faar Bk

4y T owE - uma
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